[ Efficiency vs vertpos |
= 0.0%

e SRS B R S—
g N N N
2.008F e e Freenees e
o : : :
fr1X0/o7/ SEETERTTPETE SUPRUPRLRRS Fassneseeees e sneenee
2 : :
.006F -+ wwr i SRRRRRERE SRR
0.008f-------sviseeeeeeees e o
0.004F -+ P Feeeeeeeeen e

0.003F----wrsviseenneeens e SRR
0.002F -+ P Feeeeeeeeen e
0.001F -+ eieeeeeeees Baoeeoeaea o

1072 101 1 10 0?
TP vertr (cn%)

—— DQM_old

Tici —e— DQM_wrong
Efficiend _._ bom vo0o1_R000000001_ Global__CMSSW_X_Y_Z_ RECO

~n 0.01 : : : . .
U Sttt SE SIS S
" E : : : : :
L S S SRt S
> F . . . . .
o E : : : : :
YT EEEEE TSRS SSPOEE SRS SRR HOSOES
D006 bbb
[©] E N N . .
L TR M s e
0004 +++heveenmedionmnsbennecnndione,
YOS NS SRS SO S -
7t S S R S
173 S TN S S ——
o Qoo ol
g : : : : :
24 F : : : : :
T ey

B0 =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0

> F : : : :
T e S S S S
008
D007 - --heemee oo P TR Feeeeees
Py E : : : : :
e TR A S S s S
S Aarees SIS
® E : : : :
R
L e Sttt SRR Soeeee
7 it SRS S S S
73 R O T
o Q= b
s ot 1
x : : : : :
T ST RTINS R ST T s

%50 40 20 0 20 40 60
Sim. PV z (cm)



	Contents
	Page 1


